Subtraction  without  borrowing        

1、Use the material you get to solve the problem.
15-2=

First step:

Second step:

2、Calculate the number sentence and write the process.  

17-5=               15-4=                 18-3=

First               First               First        
Second            Second             Second          

Who is their best friend?

 14-3  ①4-3   ②4+3

12-1   ①1-1   ②2-1

4、Calculate the number sentences according to the pictures. 

[image: image1.png]D
@OO00O



   
[image: image2.png]



5、True or False.

David wants to find the result of 17-2.   Is he right?

                             17-2=(   )





6、What the number sentences probably be? Write down all the probability. 
1   -7=1    

15  -   =1                                                                                        
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